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ol () éolve maximize z = 4x, + 5x,,
" Bubject to 6x,+5x, <250, 4x, +6x, 200, 6x, +5x, 2150, 9x, +5x, 2130,
o oy (7)
(b) Use Simplex Method to solve the following L.P.P.:-
Max z=4x, +10x,,

subject to 2x, +x, <50, 2x, +5x, <100, 2x, +3x, <90, x, 20 and x, >0. (8)

Q2 (a) Solve the following L.P.P.;- (8)
Max. z = 5x,—4x, +3x,, :
subject to 2x, +x,—6x, =20, 6x,+5x,+10x, <76, 8x —3x,+6x, <50, xi,
ik ._-/\_X2; Xy >0.
(b) ?Use duality to solve the following L.P.P.:-
ax z=2x +x,,

Subject to constraints: x, +2x,'<10 QNEN=6, x,-x,<2, x-2x, 51,

: /,.,_% x5 % 20 \ (7)
/ )/Nationai Oil Company (NOC) has three refineries and four depots.
Transporation cost per ton, capacities and requirements are given
\ .__%__r,/ below:- - /
D, D2 Ds D4 | Capacity (tons)
Ry 5 o 13 4 18 700
R2 "8 N 14| 13 400
Ra 12 10 9 11 800
Requirement | 200 | 600 | 700 | 400 | o
Determine optimal allocation of output. By (8)
(b) If the matrix elements represent the unit transporation times, solve
No ' the following tiansporate problem:- _ - (7)
To
From D, D2 D3 Ds Available
01 10 0 - 20 11 g el |
02 1 7 9 20 25 -
L7 Us ! 12 14 16 18 5
] Required 32 aE e 15 10 ~ 48
L ;
{ (a) Polve the following assignment problems:- (8)
el - 1)
ael
9 7 109
irid 5 41 7
s 8
P:T.0O. ;
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{j Give that the median value is 46, find the missing frequencies for the

/ following incomplete frequency dlbtrlbutl"n - = {7)
| Class | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 [ 60-70 | 70-80 | Total
¥ 12 50 - B3 - -~k ST 279

(b) Determine mean, median, mode for the followmg data:- (8)

Midvalue | 15 [ 20 | 25 | 30 | 35|40 | 45 | 50 | 55
Frequency | 2 22 | 19 | 14 3 4 6 AR |
Cum f &4 29 |.43:5:57 1 60 64 ] 70:1-71 | 72

Q6 (a) The score obtained by two batsmen A and B in 10 matches are
follows:- . : (6)
A |30 [44 |66 '62 |60 [34 180 [46 [20 [38 }

B 134 [46 [70 [38 [55 [48 |60 [34 |45 A 30%
Determine who is more consistent.

(b) Explain with examples the following:- {9)
(1) Quartile (ii) Deciles (iii) Percentiles
Sy
'BJ// Determine Pearson’s Coefficients of correlation for the following data:- (8)

JI X150 148 ] 148 | 152 | 154
S R BE g 6 K5 | 67 _
(b) Two random variable have the regression lines with equation

3x+2y=26 and6x+y=31. Find the mean values and the angles
between these lines. (7)

Q8 [a) I-}md the equation of thé lines of regression based on the following
Aata:- (7)
X |14 12 |3 |9 138

y {2 |3 |24 /4% IRy
(b) A T.V. repairman finds that the time spent on his jobs has an
exponential distribution with mean 30 minutes. If he repairs sets in
the order in which they came in and if the arrival of sets is
approximately Poisson with an average rate of 10 per 8 hour day.
What is repairman’s expected idle time each day? How many jobs are
ahead of the average set just brought in? (8)
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